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1 fir [#38 $%ER | 44 52] 96 264 69.6 51 1|82 Rif | 44 48] 92 168 752
2 fi1 [k i 51 44] 95 252 69.8 52 fi [Bpr BHF 45 47| 92 16.8  75.2
S |FME L | 42 49] 91 204 706 53 fiz{$8E &R | 48 50| 98 228 752
4 11| BB B 50 46 96 252 70.8 b4 fi | FI# #ERk | 53 51| 104 28.8 752
5 i [PHE WIS | 44 45| 89 18.0 710 55 i1 |[mM EC | 44 47| 91 156 1754
6 i |HTF 89X | 43 43| 8 144 716 56 fir [#BA B 43 48] 9 156 75.4
THET RSB 41 41] 82 96 724 57 1| 4R0 & 49 48] 97 2.6 75.4
8 fif |#BH# 2 | 45 55/ 100 27.6 72.4 58 4 |®@ E~— |47 50] 97 2.6 75.4
9 fi1 [HE ¥ 40 41] 81 84 726/BG 59 {1 [# %2 46 511 97 2.6 75.4
10 fir [ A% BE | 44 49] 93 204 726 60 fil |5 H— | 49 48] 97 21.6 754
11 4 [&k 5EKk| 39 47 86 132 728 61 fi [RIFT B& | 39 45] 84 8.4 756
12 fir /NG Pk | 41 45] 86 132 728 62 fif |igHR = 44 52] 96 20.4 756
13 i [#E & 43 43| 86 13.2 728 63 i [®4t AZ | 56 52[ 108 32.4  75.6
14 1|3 & 45 40| 85 120 73.0 64 fir | &N = | 54 54| 108 32.4 75.6
15 I | %8 88 43 42| 85 12.0 730 65 4 [#)Il & | 45 44| 89 13.2 75.8
16 fi |[71A F2 | 49 48] 97 240 73.0 66 fif |£E 43 52] 95 19.2 75.8
17 fi (S 48 49| 97 240 73.0 67 i | RN 8k [ 45 500 95 19.2 75.8
18 4 [B9)I) #8% [ 52 49 101 27.6 73.4 68 fir (Al kX | 47 47] 94 18.0 760
19 fi [mEF =R | 39 43 82 8.4 736 69 fi {3 ¥ 50 56[ 106 30.0 76.0
20 fir |30 BB | 42 46 88 144 7136 70 fif [ @ X% | 54 58] 112 36.0  76.0
2 f (ki8R | 45 42| 87 13.2 738 71 f |48 B | 43 44] 87 10.8  76.2
22 fir (B4t Xk |44 43] &7 132 738 AETE: 43 50] 93 16.8  76.2
23 fir | FBAN BRaE | 44 49 93 19.2 738 73| EB X | 52 47] 99 228 76.2
24 f |FxA SR [ 56 65 111 37.2 738 IEEEE? 50 49 99 228 76.2
25 fir |kt BEAK | 42 44| 86 12.0  74.0 75 1 ldedt B 48 51] 99 22.8 762
26 fiz|db)) BF | 43 43| 86 12.0 74.0 76 4 | B 3 44 42| 86 9.6 76.4
27 fi|Hm B 45 47] 92 180 740 R =R 40 52[ 92 156 764
28 fir | LUFA Rk | 48 50[ 98 240 740 8 R 2 47 451 92 15.6  76.4
20 fi [ ME | 49 49] 98 240 740 79 fi |k R— | 45 47| 92 166 76.4
30 fi 3R #E [ 48 50 98 240 740 80 i1 |78 B 50 48] 98 21.6 76.4
3 B RE E 43 42| 85 10.8 742 81 (I |@R =3B 48 50| 98 21.6 76.4
32 ff | A KM 43 42] 85 10.8 742 82 fir | & 3 | 41 44| 85 84 76.6
33 4 (11 BT | 44 47] 91 16.8 742 83 (1 |#M =X | 46 44] 90 132 76.8
34 4 |BERE EERS [ 43 48| 91 168 74.2 84 fi |[dEN EES | 44 46] 90 13.2  76.8
35 fi [ E= | 48 43| 91 16.8 74.2 85 i | k4t & 60 54) 114 37.2 76.8
36 fi |/ FERE | 46 45| 91 16.8 742 86 fi (k24 45— | 47 48] 95 180 77.0
37 fi |MM fEA | 46 51 97 22.8 742 87 fi1 |5 &1 47 _54] 101240 770
38 fir | B4 BsE | 53 56] 109 348 742 88 fir |BEsF Bk | 49 52[ 101 240 77.0
39 £ [Rm i | 48 42] 90 156  74.4 88 i |PIF =SB | 53 54] 107 30.0 77.0
40 {8 |3 H BER) | 50 58| 108  33.6 74.4 90 {1 | &F ®F 57 56] 113 36.0 77.0
41 fi |RE B 49 46| 95 204 746 9 fr|BM KB | 45 43 88 10.8 772
42 fir |th#t BB | 50 51] 101 26.4  74.6 92 fir | BN | 43 44] 87 9.6 77.4
43 fi |&& FFT | 49 51] 100 252 74.8 93 izl B3 | 49 50] 99 21.6  77.4
44 4 [P 383 | 42 39] 81 6.0 75.0 94 fif |46 2 47 520 99 21.6 77.4
45 1 |5t B3 44 43| 87 120 750 95 G| LB IEA | 49 56[ 105 27.6 77.4
46 B (K935 BESF | 47 46] 93 18.0 75.0| || 96 fu|FmE FE | 44 42| 86 84 776
AT (A sl | 45 48] 93 180 750, || 97T fr|fvkt BFI | 50 48] 98 204 77.6
48 | WA 27 |49 500 99 24.0 750 08 £ B = | 49 48] 97 192 77.8
49 fir (4t Bk |55 50| 105 30.0 750 99 fif | Il 8} 49 48] 97 19.2 77.8
50 fir |3t == |48 44| 92 16.8 752 100 friJigk —® | 47 S0] 97 19.2 77.8
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101 4 [dedT RRi# 57 527108 3t1.2 77.8
102 6L &) EHZ 42 487 90 12.0 78.0
103 fi | % | 47 _49] 96 180 78.0)
104 fi |FZR & 5 51| 167 28.8 78.2
105 4z [dbH FIE 55 617106 27.6 78. 4
106 i1 |PE &7 49 50| 99 20.4 786
107 2 |BF4« 00 BB 49 56§ 105 26.4 78.6
108 £ (&4 B { 49 56| 105 26.4 78.6
109 i1 | & H— 50 55105 26.4 78.6
110 L | F S5 43 56| 105 26.4 78.6
111 I | AR AR 51 47) 98 19.2 78.8
112 {1 | KR K 52 521104 252 78.8
113 i1 |/hik E— 46 45§ 91 1220 79.1
114 {u |2 H BEF 52 571109 30.0 79.0
115 I | WA B b8 67| 115 360 79.0
116 £ |FNH Fig 46 44t 90 10.8 79.2
117 fif | %A IE 45 51| 9 16.8 79.2
118 47 | BEA E4E 46 50| 96 16.8 79.2
119 fii | P& I 51 55106 26.4 79.6
120 4z | BEA 1ES 58 60 118 38.4 79.6
121 1 [ F8 82 4% 50) 99 19.2 79.8
122 il {BK & 52 521104 240 80.0
123 {2 WA & 54 50) 104 240 80.0
124 1 | B £4 87 521103 28.8 80 2
125 i1 | @ X— 45 51 96 15.6 80.4
126 1 | FE FIE 44 441 88 7.2 80.8
127 AL | K4 BSR [ 52 48| 100 19.2 80.8
128 f1 | Z&X BC 59 593 118 37.2 80.8
129 41 | NH £— 50 6551105 240 B81.0
130 1 |8 M b4 57112t 40.0 810 B
131 i | K &R 80 56| 116 348 81.2
132 61 | @I 1E— 58 51109 27.6 81.4
133 fiz | Bk BA 55 53| 108 26.4 81.6
134 61| LT EBH 5 56| 112 30.0 820
135 2 | R4RRE #5KE| 52 53| 105 22.8 822
136 i |n~& IEFE| 50 66 116 33.6 82 4
137 4 | BB BF 56 58] 114 31.2 82.8
138 4|40 & 55 567 111 27.6 83.4
139 £ 1 & W~ 59 66( 125 40.0 85.0
140 iz [dbF KX 68 571125 40.0 850
141 f1 | B& 65 63| 128 40.0 88.0
142 {1 |@&)II B—BB| 65 66 131 400 91.0
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DRI [HT woa | 42 40 82 132 68.8 52 1 |® GF=H#E | 47 49] 96 21.6 744 102 61 |TA E& | 45 44| 89 12.0  77.0] || 152 |47 8% | 61 58] 119 348 84.2
SRUAE B | 46 46| 92 21.6  70.4 b3 flH LR | 49 47| 9 21.6 744 103 {i 3ha M= | 49 52 101 240 77.0 153 i |ff#k &= | 60 52| 112 21.6 84.4
4 fr (%% B | 46 46| 92 21.6  70.4 64 fi |BH ;& | 41 42| 83 8.4 746 104 fi |[B% ek | 50 51| 101 240 71.0 154 {2 |#8E &= | 61 65 126 40.0 860
G| mE & | 45 52| 07 264 70.6 65 fir |JL/E ;5% | 43 40| 83 8.4 746 105 f | &8 ¥i7 | 67 50( 117 40.0  77.0 155 4 | —@ 3hB3 | 60 67| 127 40.0 87.0
6 fi|a sk | 35 43| 718 7.2 70.8 56 i | A M58 | 45 44| 89 14.4  74.6 106 i |Gk 85| 45 43| 88 10.8  77.2 156 fu |ZE% £ | 72 64| 136 40.0 960
7 LA Ex | 45 44| 89 180 71.0 57 fi | FH fEF | 41 48| 95 20.4 746 107 (1 |#A%F %@ | 46 48] 94 168 717.2
8 fi[%E K5 | 42 47| 89 180 71.0 58 i | PR 2 | 58 55| 113 38.4 746 108 {if | @M @mfEE| 46 48| 94 16.8  77.2
ofr|®E & |41 41| 82 108 71.2 59 fir | Kf JE— | 47 47| 94 19.2 748 109 fi|—A& #M@ | 61 49] 100 22.8 77.2
10 7 |{FM50 k| 53 47] 100 288  71.2 60 |8 B | 45 49| 94 19.2 748 110 f| B B8 | 50 40| 99 21.6 77.4
11 #1|[AH &% | 44 43] 87 166 71.4 6 fu|##9 B | 45 42| 87 120 75.0 111 fi |tUE 35k | 54 51| 105 27.6  77.4
12 f A% Bis | 47 46] 93 21.6 71.4 62 1 [t mhs | 43 44| 87 120 750 112 f |/ BF | 69 52| 111 33.6 77.4
13 i |45 &%) | 49 50| 99 27.6  71.4 63 1 [fh/E 3% | 44 49| 93 180 750 113 f |;AH —88 | 47 45| 92 144  77.6
14 f1 [#0 R#E | 42 43| 85 13.2 71.8 b4 fu % %030 | 45 48] 93 18.0 750 114 fu |5 FiE | 49 43| 92 144 77.6
15 hi {48 B4 | 41 43| 84 120 72.0 65 [ |@)l B | 48 45| 93 18.0 75.0 115 fu |BA& 5 | 45 53] 98 20.4 77.6
16 f |Box 3% | 46 44| 00 180 72.0 66 1 |M+P % | 45 48] 93 18.0 750 116 6 |56 B | 43 48] 91 13.2  77.8
17 ki [BsR EE | 42 48] 90 180 72.0 67 fi | ¥4 Z— | 51 54| 105 30.0 75.0 117 fi |RE 3% | 53 56/ 109 31.2 77.8
18 1 [J#E 8k | 37 40 77 4.8 72.2|BG 68 fir [Pl Z— | 42 44| 86 10.8 75.2 116 4 [#E X4 | 48 48| 96 180 78.0
10 (i [#FP @ |43 40| 83 108 72.2 69 fZ|3® 2% | 44 48] 92 16.8 752 119 fir|AA 3 | 51 51| 102 240 78.0
20 fir | IUFf 34T | 45 38| 83 10.8 722 70 fi (%8 %% | 52 46| 98 22.8  715.2 120 61 |%/% %5 | 49 53] 102 240 78.0
21 i [B# 72t | 46 43| 89 16.8 722 71 fir | B g&te | 51 53| 104  28.8  75.2 121 {2 |BAth ;BB | 53 49| 102 240 78.0
22 fir |\uPy 18R | 44 45| 89 16.8  72.2 72 f |#7% BF | 41 50 91 156 754 122 6 |/ 88X | 51 57] 108 30.0 78.0
23 f1 B4 BB | 47 53] 100 27.6 72.4 T3 fu|sk B— | 43 48] 91 156 75.4 23 [#m & |56 52) 108 30.0  78.0
24 1 |WYE =Bx| 41 40| 81 8.4 726 T4 (K FX | 45 46 91 15.6 754 {4 LB x| 40 49| 89 10.8  78.2
25 1 [#)I IEA | 40 40) 80 7.2 72.8 75 fu| PR M | 44 47| 91 156 754 125 {2 |l =& | 46 49| 95 16.8  78.2
26 1 |FF) A (49 49! 98 252 72.8 76 G | APk | 48 49] 97 21.6  75.4 126 7 |®ME B= | 52 54| 106 27.6 78.4
27 1|54 EX_| 54 50| 104 31.2 728 17t |F3 G | 53 50| 103 21.6 754 127 fr | MM th | 650 43| 93 144 786
28 fu |&m taia | 43 42( 85 12.0  713.0 78 {1 | B% hz | 58 51| 109 33.6 75.4 | 128 (i [#m E® | 52 53| 105 26.4  78.6
29 i |k kM | 41 50| 81 180 73.0 79 {1 | %8 B— | 46 50| 96 20.4 756 [ 129 (R mz |51 47 98 19.2 788
M EAE  [39 4] 83 9.6 73.4 80 fi|# f8— | 51 51| 102 2.4 75.6 | 130 fir[%m % |52 51103 240 79.0
31 £ [ % | 49 58 107 33.6 73.4 81 fir |42& =@ | 51 51] 102 26.4 7156 1B s Ex | 57 51108 288 79.2
6 ([M Bx |42 40] 82 8.4 7136 82 i |WF K% | 60 54| 114 384 7156 |32 % % | 51 44] 95 156 79.4
WA (BT BB | 46 48] 94 204 736 83 fu |mim % | 42 41| 83 7.2 7158 133 1 |= oM@ % | 46 43| 95 156 79.4
34 f [{&#% B8 | 51 49[ 100 26.4 73.6 84 fir Mt x| 42 47| 89 13.2 758 134 fir |[#i4Ak —R| 52 55( 107 21.6 79.4
35 f1 |H0O [ | 43 44] 87 13.2  713.8 85 f|28 %% | 43 46| 83 13.2 758 135 i | Pk (E4CF| 57 56| 113 33.6  79.4
36 fr =4 =i |44 43} 87 13.2 73.8 86 fir i %= | 52 55| 107 31.2 75.8 136 f |@F A— | 47 47| 94 144 796
37 f1 [AE $E | 45 42] 87 13.2  73.8 87 fir| b# 3kB3 | 48 40| 88 120 760 137 B |G/ F&_ | 55 67| 112 32.4  79.6
B M| LM B | 46 47] 93 19.2 73.8 88 fu &M M | 43 45| 88 12.0 76.0 | 138 fr =% A& | 50 61111 31.2 79.8
39 fr B ZBI | 46 47] 93 19.2  73.8 89 11 |3ABE Zk | 45 49( 94 18.0 76.0 39 fE|ME R |57 59116 360 80.0
40 i |B®X —BR | 45 48] 93 19.2 738 00 fir %% % | 45 48] 93 16.8 76.2 | 140 4 [&)) X | 47 50| 97 16.8  80.2
41 fi [EM ¥H—B8 43 43| 86 12.0 74.0 o1 fu|4t# #E—#B| 51 48] 99 228 76.2 (41 fir |mBE B | 47 49 96 156 80.4
42 4|78 Bk | 43 43| 86 12.0 740 92 fir (k% {52 | 53 62| 105 28.8 76.2 142 f |B% S8 | 49 53] 102 21.6  80.4
BE(HE B |45 47| 92 180 740 03 fi | /O A | 47 45| 92 156 76.4 143 {1 |79 % | 50 52| 102 21.6  80.4
44 41 |=k5 frE | 50 48] 98 240 740 94 fir | A% A% | 46 46] 92 156 76.4 144 g | EFE E— [ 55 57| 112 3.2 80.8
45 (1 SIXE % | 54 50| 104 30.0 74.0 05 fu | (UM KBHE | 49 49] 98 21.6 76,4 - 145 {3 & | 52 53] 105 240 810
46 fr | AME | 44 41 85  10.8  74.2 96 fi |1R £% | 48 50| 98 21.6  76.4 " 146 4 |hE = | 56 55| 111 30.0  81.0) |
AT (1| KM 3hz | 48 49] 97 228 74.2 07 fir |#H %A | 50 54| 104 27.6_ 6.4 - 147 1B BHF | 51 50| 110 288 §1.2| i
48 {7z #— |53 56) 109 348 74.2| 08 fu % BB | 43 48] 91 144 76.6 i [ 148 4 (LNl =B |52 45| o7 144 82.6
9 MIEE B | 43 47| 90 156 744 99 (/%% AZ | 49 48] 97 204 76.6 { | 149 fir | A Bt | 54 54| 108 25.2 2.8
50 f |/ABf b | 47 43] 96 21.6 744 100 1 2% £% | 47 50] 97 204 766 150 7 1M X% |56 54 110 26.4  83.6




